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20108 &= =0l & L BEal A

A JIEXA D

3 A A

X o500 2X2
B ;510 2NBE3S
8 : 511 R18X3E cHol & &
SN-H-B-F2 arey eIE! {imE=ET
= | 9,009,200 7,999,200
7124 X 2 2t 9,009,200 7,999,200
500 B X3 9,009,200 7,999,200
510 2NEESS 7,110,400 6,390,400
511 2N2 X3S 7,110,400 6,390,400
511-01 ZD2 X3 7,110,400 6,390,400
ONYIILDNERES 3,110,400
OolMY HALER AAIY 4,000,000
520 Al, CHIBE3S 1,898,800 1,608,800
521 Al - CHIRX3S 1,898,800 1,608,800
521-01 Al - CHIZXZ2S 1,898,800 1,608,800
OF 40| M F st 23] 1A 200,000
OXNYIIYNELES 388,800
02719 JIZ0I0IX SSCIXLI(CHIHE X & 10,000
OolMe HALER AAIY 1,300,000




= AH O
N = 0 &8 AF S & Al A
20108 &= 20l & B3I DGR3 ~ IS X3
S JIEXA N
Ha: J|UH S 2Y ZMA sy
©2: =& 0HE K& (e dE)
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
I X2 20,966,336 12,838,376 8,127,960
= 7,110,400
o= 1,898,800
Al 11,957,136
JIgX 224 3™ &2 404,950 431,560 N26,610
== 0IAHE XA 235,350 222,960 12,390
g =& X 235,350 222,960 12,390
201 Lt AH| 7,200 8,560 A1,360
01 AF222|H] 7,050 8,200 A1,150
Odil2biolof =3 RAMNES iz E22 H
= 7,050
-89 49 100,000 * 2004 A 2,000
— &y Qlokmt 150,000 * 7IH A 1,050
- xR 500,000& = 3 * 20H 3,000
-SEANE dX= 1,000
02 =294l 150 360 A210
Ogt=224gs d20122(¥3lHl) 150
202 OiH| 1,400 1,400 0
01 2 eI 1,400 1,400 0
Ox=X2gds AdR2=X0{H| 700,000& * 2H 1,400
301 LEtEAS 3,000 3,000 0
10 SALAHI B A2 3,000 3,000 0
Ol ABI0I = E REAEF DIz AHY
1,500,000 » 204 E 3,000
307 QIz2to| A 223,750 210,000 13,750
02 DIZHEASE R 223,750 210,000 13,750
Oz%==£2%Hl X& 1,000,000 = 10JH Al 10,000
OPQIHY! GHADHE XA
1,000,000& * 107H Al 10,000
OB A0S ESAMY BX
2,000,000 * 25JH Al 50,000
O4==2&82 XAAY  2,000,0008 * 10IH Al 20,000
O8I0l =8 ==4&4E3 AMPEX 80,000
O=A0|Y HAAZE BEZAXL
125,000 * 3000 Xl 3,750
OS2I HAXIAIS AFS
2,000,0002 = 1500 A 30,000
OZ22HLANMSII2A AFS (GTEP) XI & 20,000
OHRAAIE A 169,600 208,600 39,000
HAAIE X 169,600 208,600 239,000
201 Lt AH| 9,600 9,600 0




SN ISR D
My J|fH 22 B

SRl oHeAAE A (etel: =3
_ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
01 AtSR22/Hl 7,200 7,200 0
Ooll XA ZHIH =& HL X JIA
10,000& * 1205 = 12/ 1,200
OMHAAE SIS M ZZCOM =
5,000,000& * 12 5,000
OHYANZMNEE DABL HINYS +42
250,000& = 4% * 13l 1,000
02 25234l 2,400 2,400 0
OHAAZIHEHZA GHASEE Y&
800,000& = 3= * 13/ 2,400
202 O4dl 20,000 24,000 A4,000
03 2AHR0 Y| 20,000 24,000 A4,000
Ooll2AAFHNHE MASFH OH]
5,000,000& * 4H = 13 20,000
301 et as 30,000 45,000 A 15,000
07 QI2tel=204Hl 30,000 45,000 A 15,000
OHAAIZHES SO S22
3,000,000 * 1/2 = 2000 A = 13l 30,000
307 212t01& 110,000 130,000 220,000
02 BIHANEX 110,000 130,000 A 20,000
Ooll A AN E TIHAAS 80,000,000+ 12 80,000
O=Ue &Al2 -eregsl o X3
2,000,000 = 15JH & Xl 30,000
sAJE NS Lt 4,643,500 1,705,488 2,938,012
= 3,110,400
< 598,800
Al 934,300
Jlsiieg & SEHA & 618,900 530,300 88,600
& 210,000
Al 408,900
Jisig & SESHN NH 146,100 127,500 18,600
& 10,000
Al 136, 100
307 S12t01& 146,100 127,500 18,600
= 10,000
Al 136, 100
02 BItAANEX 146,100 127,500 18,600
OJIgH Hadls XFEEE HE
500,000& * 10070 Al 50,000
OFYE=ME =2¢ N&E
1,000,000& * 2074 & Al 20,000
O&tSTHAA =ROIME K&
1,500,000 * 15JH Al 22,500
OJIgHM Sd, a=4let E&3d A& 20,000
- So &3l 600,000& * 30JH & X 18,000
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A IR

B E40l9 NARE B3
Eel: Jl=g & SESA X (el &)
_ _ _ Muo
SNBSS - MBAY - BES 0 & 24 e {imE=Eh
— A EARHE R 400,000 * 54 Al 2,000
OSaMZgH SHABl X&
200,000& = 2000 A 4,000
Os2J1g8 U aSat HEX &
1,200,000& = 8JH S Al 9,600
OsAJ1e JIH0I0IX SECIXRI(CI) HLX
& 5,000,000& * 400 Xl 20,000
= 10,000
Al 10,000
Sa0|E SR 472,800 402,800 70,000
S 200,000
Al 272,800
201 EH2HH| 2,800 2,800 0
01 AtR 22/t 2,800 2,800 0
OsAIIZHAG 8&sl iz HUHSRRE =
a] 7,000& *100H x4 2,800
307 2120l & 470,000 400,000 70,000
& 200,000
Al 270,000
02 QI3 aEx 470,000 400,000 70,000
OSaJ|gd et SHEal A A 470,000
= 200,000
Al 270,000
g s 23t N3 4,024,600 1,175,188 2,849,412
= 3,110,400
= 388,800
Al 525,400
gy 3¢y 23 XA 124,000 159,000 A 35,000
201 et 13,300 20,600 A7,300
01 AtR2teld] 13,300 20,600 A7,300
OXr&AH 201 CE0 A THAM E
700,000& * 4H 2,800
OJIZHSA 23l M M
5,0008 = 150% * 43l 3,000
OIS NZAIM cl=3 MA
1,000& = 5,000% 5,000
OME A sMEdRIIEgEd 222 HE
500& = 5,000% 2,500
202 O4dl 4,500 5,200 A700
01 S 4,500 5,200 AT700
OJIgXNEeY =80 4,500
203 AR =& 12,000 12,000 0
03 A=A HS=LH| 12,000 12,000 0
OJIgNE AP =AY| 2,000
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M SANY NAES 23

Sl Ol ZMe Ast X (e @8

_ _ _ Muo
SN CR(EH) - NRAY - BES 0l & 24 e HRE2
—JIgMZAtE o2 =& 1,000
-JIgdgas XN 1,000
OsAJIgE sS4 ¢ NF YRFLH] 10,000
207 Aoy 1,000 10,000 29,000
02 ™ AIHE Y| 1,000 10,000 9,000
Os2J18 s3] AIAE RS2 1,000
301 Ypt8asg 6,200 4,200 2,000
10 EAIAHIE A= 6,200 4,200 2,000
OJIZHSA 2Fa 44X S4B
7,000& * 150% * 43| 4,200
OJIYCE0 ZENRZUE A==
00,000& * 43| 2,000
307 g12t0lH 70,000 75,000 25,000
02 BIAANEX 30,000 35,000 25,000
OygIgel ZE3estus A&
5,000,000& = 23l 10,000
OZoflRHoztuol 299 5,000,000& * 23l 10,000
OZoisadH - JHdHTL 2HASHI 10,000
04 CIZFSALE X 40,000 40,000 0

4,000,000& = 102 40,000
401 AIEHIZ 208 17,000 32,000 A 15,000
01 A&l 17,000 32,000 A 15,000
OJIgH etuztet E=S L X
3,000,000& = 5JH A 15,000
OJIgH etz S EXN U |RAE =4l
400,000& * 5JH A 2,000
NegunExs & 3,888,000 953,200 2,934,800
= 3,110,400
= 388,800
Al 388,800
307 2120l & 3,888,000 953,200 2,934,800
= 3,110,400
S 388,800
Al 388,800
02 Y2tFoEx 3,888,000 953,200 2,934,800
oXNgllgnsexrs XN
600,000 = 540H = 123 3,888,000
= 3,110,400
= 388,800
Al 388,800
MZHH 2el 12,600 12,988 A 388
101 el 24| 12,600 12,988 A 388
04 JIAHZ2HSE= 12,600 12,988 A 388




A IR

M SAI|Y KNS 2s
el 1y ZdE L X (etel: =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
OJIEM&E =LA 124 H|
35,000& * 18 » 202 12,600
A s 4 10,841,486 4,823,288 6,018,198
= 4,000,000
= 1,300,000
Al 5,541,486
I -2 FEX0IY 7 80,616 100, 188 N19,572
=W -2 FEX01Y =X 80,616 100, 188 A 19,572
101 el 19,866 19,388 478
04 JI2tHIZ2E2NHEE S 19,866 19,388 478
OF U7X &g 22| 19,866
A== 38,600& * 19H * 250 9,650
-&0= 9,650,000 = 4/12 3,217
==y 38,600 * 1H * 523 2,008
SR PN R = EEg =y 38,600 » 1H = 15 579
L EE LS
7,2373 = 18 * 25A[2t « 128 2,172
=2 120,000& = 198 « 128 1,440
= JHAIXI &bl 50,000& * 18 » 12& 600
—g&E50Hl 100,000& = 23l 200
201 LetEHH| 8,650 17,700 29,050
01 AtSR22/Hl 8,650 17,700 29,050
OJIZEXEAN M 65,000 » 2& * 53 650
OIS RX S2MI UM
30,000& * 1008 * 28 6,000
O=ZU &&sl &It JIgSX s2HE ME
500,000& = 104 * 43l 2,000
202 O4Hl 3,100 13,100 A 10,000
01 =LA bl 3,100 3,100 0
OJIgsxgd dRF=&0Hl 700,000& * 3H 2,100
Ol Rxgs dRF0 1,000
301 LetEas 5,000 5,000 0
08 QIBI=&E NI 5,000 5,000 0
OAENFXINY 2HKF =& 0] 5,000
303 Z&az 5,000 5,000 0
01 Za3z 5,000 5,000 0
OFNRI 48 Za= 5,000
307 QI2+0IA 39,000 40,000 A 1,000
02 2ItAASE X 39,000 40,000 A 1,000
OdlAJ1d ENRX 43
15,000,000& = 2JH X< 30,000




SA I KDt
M Xof MEtae |4

&2 2 -2 EXN0IY =7 EEEEE]
_ _ _ AT
SAN-ZH-SA(FA) - NFAY - BES (il & OH ‘Oﬂ/i\_Fo” Hlw &2
O=3UIIg EXRX 8HF
3,000,000& * 3MHFEA 9,000
KNGSl Aerd st 2,642,470 2,817,100 A174,630
JeldiUXd Gl AEAL(EHEXH) 10,000 0 10,000
307 elztold 10,000 0 10,000
02 It & Ex 10,000 0 10,000
OIDE X AHH 013 26 AL
10,000,000& » 102 10,000
S B =21(BK21) AL (SR EXIR) 192,000 64,000 128,000
307 elztold 192,000 64,000 128,000
02 2ItFaEx 192,000 64,000 128,000
Ol st=21(BK21) At
192,000,000% * 1JHA 192,000
Arerol e ALY (A E X)) 10,000 10,000 0
307 elztol A 10,000 10,000 0
02 YIS EX 10,000 10,000 0
OLstAZ SIS ML HAASAY
1,000,000 * 1004 Xl 10,000
Ol-HI= SHAMY 35,000 35,000 0
307 @Iztol A 35,000 0 35,000
02 QIHIAMEX 35,000 0 35,000
O0lcHI Z20E ESXJAY
500,000 * 7004 S Xl 35,000
HUIDIME JSASAML (T XH) 100,000 100,000 0
402 RIZ2HHE01A 100,000 100,000 0
01 Q228X 100,000 100,000 0
OZZIIIHE JIEHR=AY 100,000
KA AAE(RIC) AL (SIHEFXIH) 100,000 100,000 0
402 QIZ2HHE01A 100,000 100,000 0
01 QItR2Ex 100,000 100,000 0
OXI L& AHIE (RIC)AL 100,000
St |4 gRF4 2,100 2,100 0
202 O] 2,100 2,100 0
01 2O 2,100 2,100 0
Oflchard HRF=T0oihl 700,000& * 3% 2,100
S2J1Y 1AM SSISHAL (ST L) 188,370 231,000 A42,630
307 elztold 188,370 231,000 42,630
02 It a2 x 188,370 231,000 A42,630
OSAIIFIMII = SstsEAY 188,370




A IR

M Xof MetMe |4
et RIS Al oters ECR-ED
_ _ _ Muo
SN FHH S (3H) - HREAY - BES Ofl Ak 04 Sl ko Hms2
ING2H IS B SHE PEAL (ZIHEET 2,005,000 2,002,000 3,000
)
201 Let23| 3,000 0 3,000
01 At22r2lb| 3,000 0 3,000
OWNGAI OIS HEl 2200 L M2 ME 3,000
301 LEtB A= 2,000 2,000 0
10 SALAHIEAZ 2,000 2,000 0
OWNG AIEOIZHEl REAR BT 3l 24
Hl 2,000
401 AlEHIL 2048 2,000,000 2,000,000 0
01 Al&HI 2,000,000 2,000,000 0
OHYF X 04 bl 2,000,000
THICH oM arel g 8,118,400 1,906,000 6,212,400
= 4,000,000
& 1,300,000
Al 2,818,400
HIOIR &H=2olad dHAS(RIEEXH) 30,000 30,000 0
306 23 30,000 30,000 0
01 8¢ 3 30,000 30,000 0
OBHOI TS0l LA Al BE3 30,000
OlMY HIALEZ HEAY 7,300,000 1,000,000 6,300,000
= 4,000,000
= 1,300,000
Al 2,000,000
306 B0l 7,300,000 1,000,000 6,300,000
3 4,000,000
& 1,300,000
Al 2,000,000
01 8493 7,300,000 1,000,000 6,300,000
OoMY HALES AYAY 7,300,000
3 4,000,000
& 1,300,000
Al 2,000,000
AHITH QM X 2 ME 2 788,400 876,000 87,600
306 Eoiz 788,400 876,000 87,600
01 &3 788,400 876,000 A87,600
OXHICHOI MY HIE THEHS b 788,400
MEESOIGX ) 5,000,000 5,800,000 A800,000
LHEHHKX & 5,000,000 5,800,000 A800,000
ZAJIAKHII2EH HED 5,000,000 5,800,000 800,000
702 JI2HE2 5,000,000 0 5,000,000
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